iR
AR SOR R G (BL S/ W AR
FERA

RE Lock Valve, Relief Valve, B x, ABH /& EEL =5,
{ZER T E T2 &R IFHE S

P
o
e
)

<2
(9]

=
=
o
)
2

= Ea Al

YH-10120RE | YH-10125RE | YH-12125RE | YH-12140RE | YH-15130RE | YH-15150RE | YH-20135RE | YH-20150RE = YH-25160RE

JEEITIE [mm)] 20 25 25 40 30 50 35 50 60

SEZEEAD (Push) [em?] 78 78 114 114 168 168 305 305 515

SEZEER (Pull) [em’] 73 73 106 106 154 154 283 283 482
SEEHES Push [kN(kgf)] 29(2960) | 29(2960) | 42(4326) | 42(4326) | 63(6375) | 63(6375) | 114(11573) | 114(11573) | 193(19541)
SEZEHEST Pull [kN(kgf)] 27(2770) | 27(2770) | 39(4022) | 39(4022) | 57(5843) | 57(5843) | 105(10738) | 105(10738) | 180(18289)
BATIEEH [MPa(kgf/cm’)] 40(40.8) 40(40.8) 40(40.8) 40(40.8) 40(40.8) 40(40.8) 40(40.8) 40(40.8) 40(40.8)
AFHRARALE [min] 6000 6000 6000 6000 5500 5500 5500 5500 2000
BMF%E [N - m(kg - m?)] 049(0.05) | 049(0.05) | 0.88(0.09) | 0.88(0.09) | 1.86(0.19) 1.96(0.2) | 3.82(039) | 4.12(042) 9(0.92)
76 77 105 11 14 145 225 235 88
/2 Leak £ [¢/min] 08 08 08 08 08 08 08 08 08

K AVFBRIRAFCRATNE N o
X R SIMERIRE T B MERMEEE,



N~ &
5 H|©
o
@
e
=
>
O
=
8
o
oz
S
R~
YH-10120RE | YH-10125RE | YH-12125RE | YH-12140RE | YH-15130RE | YH-15150RE | YH-20135RE | YH-20150RE | YH-25160RE

135 135 160 160 190 190 245 245 305

m 118 118 142 142 170 170 222 222 275

80 80 110 110 110 110 120 120 160

30 30 35 35 45 45 55 55 65

- 21 21 25 25 31 31 37 37 44

- 35 35 44 44 45 55 60 60 65

- 209.6 2146 220.6 267.1 2286 280.1 240.6 280.1 310

- 126.6 126.6 126.6 156.6 126.6 158.1 133.6 158.1 136

n 83 88 94 109 102 122 107 122 142.5

116.5 121.5 127.5 142.5 1355 155.5 140.5 155.5 176

45 45 51 65 56 80 69 80 85

- 25 20 26 25 26 30 34 30 25

“ 6-M10x20 6-M10x20 12-M12x24 12-M12x24 12-M12x24 12-M12x24 12-M16x30 12-M16x30 12-M20x35

“ 1225 127.5 1335 148.5 1415 161.5 146.5 161.5 182

67 72 72 87 80 100 85 100 1205




	回转油缸 18
	回转油缸 19

